GSCE

Solution of Simplification(Answer with explanation)
1(2)
(16) + (36)? = (2)? + 459

or,(?)> = 1296 + 4 — 459 = 841
or,?7= 129

2(4)

45 5 30
7=—X—X-—X216 = 89.1
10 156 100

3(5)

(1.1)% — (4.24 x 0.04) =7
7=1.0404

4(5)

(0.538+0.462)x(0.538-0.462)
0.076
=?

1%0.076
0.076
7=1

5(10)

7 =120 1343 4 72 + 431 = 1331
or,?7=11

6(5) "18"

7.(2). "47"

8(5) 715

9.(1) "135"

10(2) "1521"

11 (2) "2905.5"

12 ( 5). "242"

Explanation :The difference is number between 13,23, 33,43 53
13. (4). "1437"

14( 4). " 200%"

15(2) 232

16(1)253

17(3)6
18(2)1.25
19(4) 0.63

20(3) 0.347

21C

a® + b3+ 3 — 3abe
Apply a2+ b%+¢c2—ab—be — ca

=a+ b+ c

Hence the answeris 1.5+ 4.7 + 3.8 = 10.



22A

3734-35%4-283 373723528

Given
372+3524+-282—37235—35x28—37228

Itisinthe form of
a®+b3+c® —3abe

—a+b+c
a2+b%+c2—ab—bc—ca

Herea=37,b=35&c=28

=>a+b+c=37+35+28=100

23A

3*5 +5%3=(2*5-3*5+5*5)+(2*5-5*3+5%3)
=(6+10-9+15)=22.

24C

A
(a+b+c)® = a2+ +c? +2(ab+ be+ ca)
2(ab+be+ca) = (a+b+c)® — (a® + 8 + c?)
=169 — 69 = 100
= (ab+ be + ca) =50

25A \

Given fractionis5(2/7)-3(1/14)-2(1/14)-1(1/7)=?2+3(1/17)
It can be written as

(5-3-2-1)+(2/7-1/14-1/14-1/7) =7+ 3(1/17)
-1+0-3(1/17) =72

=>?7=-4(1/17)

27D

28C



29C

48+/7 +324/7 = 320

=>64/7 4+ 447 = 40

Now squaring on both sides

=>3627 + 1627 + 4827 = 1600
=>100x7?=1600

=>?=16

30A
-t T=Netb="Te—-3Jg=2=4g =2 =" =12

Now,3z +7=2z2+p= %—H’: %+p:>p: 1?7
31B
[(k—L}z—(KJFL)ﬂ .
1K %
(K2+L*—2KL)—(K?+L*+2KL) .
1K -3

=>-4KL/4K =a/b

s ). =~alb
=>plL =-a
32B

38 x 7500/100 + p x 375/100 =50 x 6000/100
=>38x 75+ 3.75p = 3000

=>3.75p = 3000 - 2850

=% p=150/3.75

=i» p:? =40



33D

4 2 2

123 158 o __ 35
AR Tl i
:>? e i TR _— -
* + 12 3
- ? = 1476 + 1106 — 980
. 84
=>?=19.07
34C

Given that 377¥ = 27, 3*1¥ = 243
=Y = FU_
=>x-y=3, x+y=5

==x=4

35A

%7 %x%x539 = %xﬂ)ﬂ[}

(7)? = (2x7y/8—21+8+49— 14/8)
— 57 — 21

_ 36

=>

7= 46

43x616.6/100+37x217/100
=>265.138 + 80.29
=> 345.428




38A

Given 39.96% of 649.85 +-13.07 = 45.14 - ? can be written as
40% of 650 +-13=45-7

40 x 650
100 _ 9
s = 45

?7 =45 — 20

T = 2B.

398

a b 4

I Mgy

i

-5

40A

276435 1011 __

961+50 1011

Ghenexp=| 2+ {3 -3 (3- %)= [+ -1 G-}

1 24
43B
L4 2660
7;I:E:L'E:I:E:c?fiﬁ(] = a5 = 10



44D

X2 :)’2 & 1000482 - 10(2x0.70) = 11.40
= 0.482z=1.40
= z=140/18 =35/12 = 2.9 (approx.)

45C

0% = 55 = 3

2 24

Sy 22 ? =
= EX X! 48
. 483 hxA. .
=T 2x24 20

46C

1
142 £ 142 = Wi

=>142z 1422 ;. = 568

47D

L2448 + ] 23374
=> 392 | 2802
=> 3284

48B '

49D

41% of 600 - 250 =7 -77% of 900
= 246-250=7-693
=246 -250+ 693 =7

=7=689
50C

50.003% of 99.8 + 49.988 =7
?~=(50x100/100)/50

?~= (50x 100)/(100 x 50)

?~=1
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